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חשיבה כמותית      מבחן מדעני העתיד      דוגמאות והסברים

דף נוסחאות

בפרק.זה.מופיעות.שאלות.ובעיות.של.חשיבה.כמותית...לכל.שאלה.מוצעות.ארבע.תשובות...
עליכם.לבחור.את.התשובה.הנכונה.ולסמן.את.מספרה.במקום.המתאים.בגיליון.התשובות.

הערות.כלליות

הסרטוטים.המצורפים.לכמה.מהשאלות.נועדו.לסייע.בפתרונן,.אך.הם.אינם.מסורטטים.בהכרח.על.פי.קנה.מידה... .
אין.להסיק.מסרטוט.בלבד.על.אורך.קטעים,.על.גודל.זוויות,.ועל.כיוצא.בהם. .

קו.הנראה.ישר.בסרטוט,.אפשר.להניח.שהוא.אכן.ישר. .
כאשר.מופיע.בשאלה.מונח.גאומטרי.)צלע,.רדיוס,.שטח,.נפח.וכו'(.כנתון,.הכוונה.היא.למונח.שערכו.גדול.מאפס,.אלא.אם.כן.מצוין.אחרת. .

...a.הכוונה.היא.לשורש.החיובי.של.,(0 < a). a כאשר.בשאלה.כתוב. .
0.אינו.מספר.חיובי.ואינו.מספר.שלילי. .

0.הוא.מספר.זוגי. .
1 אינו מספר ראשוני.  
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לחוברת.הסבר.עתיד


